
V8 3.9 EFI TWIN ALTERNATOR MOUNT SERPENTINE BELT 

M8X40 Bolt/Nut + 2 washers 

M8X35 Bolt/Nut + 2 washers 

  M8X110 Bolt/Nut + 2 washers 

                 15mm Spacer 

M8X85 Bolt/Nut + 2 washers 

M8X35 Bolt/Nut + 2 washers 

M8X40 Bolt/Nut + 2 washers 

                  4 X M8X35 
                  4 X M8 Spring washers 
                  4 X Flat washers 

M8X120 Bolt/Nut + 2 washers 

Air con tensioner (ERR3440) must be used. Both alternators can be   
adjusted to make sure the belt tensioner is at the centre of its travel. 
You must fit a separate EARTH CABLE from the alternator body to the 
engine block. This is very important to get maximum charge out of your 
alternator. 


